QT Best Buys

1. Two different packs of Top Tea Bags are available at the supermarket:

Superpack - 180 tea bags for £5 — ¥ ¢ QO¢
Megapack - 200 tea bags for £6 — 500 Q

Which pack represents the best value for money?
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2. Big Flavour Coffee is available in two different jars:

200 grams for £4.99
300 grams for £5.99

Work out which jar represents the best value for money.
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3. Medium eggs cost £1.09 for a pack of 6, or £2.70 for a pack of 18. Which price is the
better value? You must show your working.
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4. Onions cost £8 for a 7.5kg bag at a farm shop. The same onions cost £2.50 for a 2.5kg
bag at the supermarket.

Where are the onions better value, at the farm shop, or the supermarket?
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5. Moosehead shower gel is available in three different containers:

Large 800ml for £6.50
Medium 600ml for £5.00
Small 400ml for £3.75

Which container offers the best value for money? You must show your working.
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6. In a supermarket sale there are two offers for dishwasher tablets

Pack A - 180 tablets + 25% extra free - total cost £4 — D \FO -+ = 1Y
Pack B - 180 tablets + 10% off the normal price of £4 — 3‘;&@

Which pack offers the best value for money?

Rl o & \¥O = \¥ X0 - Yo N %) \(\Q_—ég
o 207,  \WQ = Y pib VL, 1 T 4
7. & \W0 = ] - S
S Ei\w = ug : ‘\m)c

gadie - NSh RsER R MR W o QOSr
eetsll ST S e e &l o

< \o WO \¥ \ ? QS:
360

www.3minutemaths.co.uk for real maths, tips and techniques




